Pre-Calculus
Intro to Trig Review

Change to a decimal degree.
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Change to degrees/minutes/seconds.
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13. Convert the 262°43'48" to a radian measure. Round to 3 decimal places. 4 & 8'(0 rodians
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Find one positive and one negative coterminal angle for the given angle.
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Determine the quadrant in which the terminal side lies for the given angles.
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Given the radian measure of a central angle, find the measure of its intercepted arc in a
circle of radius 5 inches.
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Given the measure of a central angle, find the measure of its intercepted arc in a circle of
-adius 30 cm.
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Given the measure of an arc, find the radian measure of its central angle in a circle whose
radius is 10 cm.
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Find the value of the six trig functions of an angle in standard position if the given point lies
on its terminal side.

See O,Hucheal
30. (—+3,-1) 31. (7,24) 32. (-8, 15) 33. (5,0

Suppose 6 is an angle in standard position whose terminal side lies in the given quadrant.
Find the value of the remaining five trig functions of 6.
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34. sin B ===, quadrant llI 35. cos © =-—, quadrant |l
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36. cotB = E' quadrant | 37. cos@ = ?, guadrant IV

Find the exact value of each trigonometric function. Work O,HG.OhGO'
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